OX R

678 (&) —

7 — L Fta

6A8H () —

[+

(%F]

8:45i2 5B 2. 10:00-BEZL.

8:00BHEE. 9:00~4"— L BAtA
FIEE-R¥RAEE (a-A: 88—+, b-B: XBEA3—K)
a*b:®EB. A-B: LEEH

B-9A

®| % a-2 {RIRA
& B
A-4
A-2 B-2
7 1 7
(1)) ()] (0))]
1 2 2
iz iz i
RIRAE ®| MiE

10:30+




OF:a=g=Fi

KAF—LBNRBEOI_ T+ —LER
HKAF—LDAUFIE, TOICAM>THAIZHEY ET,

[6B78 (£) ]

i aa—k (BER) % E RS . ba—k (ZEMA)
| AF—L4 | T0 [BFE=Al|ams : 1sspise |l AF—L | TOo EBFE
BF| KXo Ach . ZF RIRME | BE

1 ey 10:30 1 =
BF AE | =% _ ¥ K —rh

2 = 11:45 2 =4
BF| AP | 4E _ XF B | wE

3 v 13:00 3 e
BF| Z—d | k& _ xF KE | x¢

4 =y 14:13 4 =9
BF| &/ |FFRM ) ¥ M |FRME]

0 4 1930 o k2]

BF . ZF Zf | XIR

6 P 16:45 6 m

MN—DBA LSS F =M1 b : 105

[6A8H (1) ]

Aa—F (ERAE) % E R Ba— bk (LA

IR i T ] T
Al | AF—L | TO | (e - 185R9159)) 3] AF—L | TO ff !

1 2] — 1 3]
®F| PO [KHE _ ZF| FOUL [ERBF

2 e 10:15 2%%

BF| A |[r2ou . BF Xt [s2oauf

3 37 L1=ad 3 =27
®F7| RE |[5+8 ,

4 P 12:45 4 -y

_|BF| ®iE _ TF

5 = £ k8 5 =¥

MKIN—DTBALS5H, F-bMU4-nN ) : 1057






